02 01 23

G )
9,309 | 9,309 | o | o | 0 0
R2 R4 R6
82,314 6 82,709
82314 82709
82,700 — 82,314 395
B
ot % W
608 16,439 3
|| || || || || || ||
A09

1 0000538328




R02 |R03 [R04 [ROS5 [RO6

A09-001 L=740m L= " | m | m | m|m 2,700 |18.50

114m L=200m

L=100m
A09-002 L=600m "= | = | = | 780 |1.38
A09-003 L=240nm "= || m 810
A09-004 N=27 "= | = | = | 224
N=

3
A09-005 L=370m 2 " | = 513
A09-006 L=360m 2 " | = 927

1 0000538328




R02 |R03 [R04 [ROS5 [RO6

£A09-007 L=460m . 469

£A09-008 L=120m S I I I 350 [1.26
£A09-009 L=28n | | . | | | | | 17| |
A09-010 L=45m | | | . | . | . | . | 150|27.86 |
£A09-011 L=115m | | . | . | . | . | . | 1,3so|2.39 |
A09-012 L=251m L=550m | | . | . | . | . | . | 780|19.09 |
A09-013 N=30 [ n n [ n 134

N=1
N=2

0000538328




R02 |R03 [R04 [ROS5 [RO6

A09-014

L=800m

165

9,399|

9,399|

0000538328




R0O2 RO3 RO4
@ 1,698 800 541

() 41 25 0

(c=a+h) 1,739 825 541
(d) 533 1,370 538

) 895 1,657 793

) 1,370 538 285

1,041 201 27

(h = c+d-e-f) 7 0 1
(i = (g+h)/(c+d)) 46.12 9.15 2.59
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0000538328



